Efficiency vs P,

0.2
. : : :
L0.18F i RERLEAEERRES RRREEELREED
> F : : :

S 016 i [ AR

) : : :

(&)

E014__ : : :

© E : : :
0.12f-A--deeriveeerannnns Fraeenenn e
0.1~

0.08F 1y w+eeeriverneneeees RN e

0.06f--------=rimereemenees ------------- ------------

0.04F T e S

0.02F-----erminerenee ------------- ------------

o 0] ]
VS

.................................................

Ratio
+
_:—_31

0.954

107 1 10 prT (Ge\})o3

—=— DQM_TT__mkFit-DQM_mod-127
—— DQM_TT__mkFit-DQM_mod_updated-127

= 02
2
20.18
2
50.16
o
£0.14
[}

L LY

0.08F g5+
0.06[
e
0.02f : :
) TUN T

Ratio

0.950

Efficiency vs ¢

9-0.2_: :
T s s s s
T s e
oaaf b
b
VI TPIS o T S —
oodk o’ i
IS L S U R
004: N N N N N N
0.02:;

J__Uoluuuu

Ratio




	Contents
	Page 1


